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(b) Rewrite the following dialogue, written in indirect speech, in a paragraph form.
Helen: Mr West, what's happened to John?
Mr West: He's left the company
Helen: Why has he done that?
Mr West: He asked me for a rise but I didn't give it to him.
Helen: Why didn't you give him a rise?
Mr West: Because he was lazy.
Helen: Has he found another job?
Mr West: Yes, he is working in a film company.
Helen: What is his salary like?
Mr West: I think he earns quite a lot.
Helen: Does he like the new job?
Mr West: I don't know.

)

)\\ \ -



hi_hwx\ﬁdm\&%gﬁiwm) %%&&%%?ﬁ@a&ﬁ
M§§§\\§$§ Eﬁxﬁ\iEE
@ My owest @m&\g% . . > e
é | :

vvvvvvvvvvvv



underlined part is incomplete. covert the complete line her asked why mr west did so 
rest is satisfactory
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